EXERCICES DE DERIVATION 3

Dériver les fonctions suivantes

—2x-1
1) f(x) =
32
2) f(x) = (et 3)
x—1
2x+1
3) f(x) =

Va2 +5

4) fx) =(x-5V5x-2

5) f(x) =

6) f(x) =V 252+ 4

2x+3
7) f(x) =
4x—4
A
8) fx) = sin(x)

5 cos(x) + 2 sin(x)

3—4x
9) f(x) = sin( )

5x—-1

10) f(x) = —cos(5 x) — 2sin(2 x)



2 | derivex3.nb

SOLUTIONS :

1 f(x) =

2) fi(x) =
3) fi(x) =

4) fi(x) =

5 fi(x) =

0) f'(x) =

7 f(x) =

8) f'(x) =

9) f'(x) =

2(x+1)

x2-2x-15
(e —1)?
5sin(5 x) — 4 cos(2 x)
15x—29

245x=2

21

2(Vx +42Vx

4 x
3(2x2+4)2/3
5

412 [ 23
20
(5 cos(x)+2 sin(x))2

11 cos( g:j_;c)

(1-5x)2

10) f'(x) = 5sin(5 x) — 4 cos(2 x)



